2020. 6. 1

190 070

E 2| it T | FinE"
0o

140

150

[= ===

m\l\

___________________________________________________________________________ J— o
TR e ) b | R, ——
R - PQ-4 R N H y | =
= — N DN PQ)-4
— - [y v
ﬁ P4 ny Fok—£4 N2 s
2BEHR [
= 3EHR
N st EDR—A
410 Md %N
R PR R, %EN o By Ry A { DN Bz
\ PR N oy :
\4%%,? ................................................................................................................................................
?30' =z =z =z
Woom ® m m om & N0
m . XXX = XXX L XA [— FF28R - E S5 BEt . BRE EAE SR £HDODZTR
A oo AR P e BET (@] v Z5=Sar 05 7 RRSol [0 v RAS—iR L] AR kR T BRA-E
TS TLA—A—  xxX . o FEENAE Ak Psb- SEWMLER @ - A > ba— R
--------- Rsm) (/7] BRI < [R] Sv5 — A5—15 KRS~ =] KB FAkE ] SAR-R
¥ XXX - h— REF
T TLAR—=F— XXX - XX - SvUES - L& RE FEERN PR . PR7R— R
""""" &EBR 7 Th TreEE . RRE—R ] 7 (R - mE) (%)
_________ F=4A)L Xa-Bl HEEFEMER e BUS =F/)UR
......... IZHL—5— BAR= b - K& A= e SRR Lo e ZAAC R
% XX - £D(UP) - TO(DN)




2020. 6.1

TOR—LA
1 - 28RN

LEOR=4
3 - 4FHRN

N = E R E
R & 1t £F RENEF
2 F or
O O I O O O O O
WC WC
wC
[MIIPN %=2 | () ' %6 Jop[TTTIT] ==
. up REB= i we
[ [ [ | | [T Hj 40270 010 F [
(%) £ — 4t
) K = SvF 2
I PO-4 NH%ET i = J>3-X el
R =
e
01
O 0 N 0 w3 B B
uP 010 = up
7HERK—F o =
. ALy | IONI T[] S
MOmmoe]  7%F R 391
¥l H
[ [ |
e o
m N
PP p— HaE XXX e RZT B s FRE
A TLR—=F— XXX 3 (%) Bt =
--------- (ﬁlﬁgﬁﬁ) m """"" H%Rb < Z """"" %%%ﬁﬁﬂ%u-l-
T ILAR—F— XXX < R FEZEN
L I [ ] EBm) 7] RTh T2~ (255 - )
JEEH — XXX ZogW LCD BEREN
""""" TAPL =5 = PAF=> = (7L CD)
X XX - EDO(UP) - TO(DN “
’ (P FRON o THIY | my BEEREIR
DN (@] AT—>3> 7] €=25E)
uP XX REENAE
[R] Swvy
UP % XXX - h— RBES _ =Nn=-, K
) AN = SR KHDODTR
m EEOom X TrIEs = o BRA-R
. FF2BR g e i ,,
|:| RzH—w [ TRRS —1R GP RAZ PO—R
SZARI S SRR
1 ﬁﬁﬁ_t Ps®-a o%l IN= R R
= v kxbom W KA (P P
PB-a IN=V:E BUS CEIAV Y
O KRGt [ ] BRAR-R
X a - B1REIFARE
b - MY A&




